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*9
(dlazs 0.5)

worked
working

to work

=0
(dlass 0.5)

depart
put

run

28

Write an advice email about how to take
care of an animal. Describe a situation in
* which a human takes care of an animal

(dlagi 10)
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Why didn’'t Becky want to wear the pink .4
* 7hat
(i 1)

a. the bow was too long
c. it had a bird on it

d. it was dirty

Why did Aunt Agatha want Becky to wear .5
* ?a hat

(b 1)

a. it was raining
b. it was too hot

c. it was cold
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Read the signs and choose the proper
. meaning

29

Question
(dlags 2)

A
Half-price tickets
for children under 16
children under 16 pay only 50% of the
ticket price
half of children should pay
.children under 16 shouldn't pay
30
* Question
(dkais 2)
B

Short stay car park | [
20 MINUTES MAXIMUM

You can stay at least 20 minutes in the
park

You can stay longer than 20 minutes in
the park

Don't stay more than 20 minutes in the
park

* Question
(dlaas 2)
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*3
(ikais 0.5)

learn
study

have

21

* 4
(ks 0.5)

studies
uses

learns

go
went

goes

i)
(dkass 0.5)

because
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Choose the correct answers to complete the
following short passage
My name is Hans. | (1) -— a mechanic. | (2) -
—in London, | (3) — a brother and a sister.
My sister is a university student. She (4) —
medicine. She is going to be a doctor. My
brother does not want to (5) -— to university
(6) — he wants to be a mechanic like me.
He comes and (7) — me in my shop on
Fridays. He hasn't finished his education yet.
(8) — his education, he is thinking of (9) —
with me. We will (10) — the business
together

*1
(akiis 0.5)

is
are

dlTl

*2
(ki 0.5)

think
live

arrive
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Becky was visiting Aunt Agatha at her house
at the beach. It was a beautiful summer day.
Becky had built a giant sand castle that
morning. Aunt Agatha took pictures of the
castle to send to Becky's parents. It was a
great big sand castle. Later that morning,
Becky and Aunt Agatha went swimming in
the ocean. It was fun to jump with the
waves. Then, they went in the house and ate
.sandwiches and strawberries for lunch
Becky wanted to play on the beach that
afternoon. Aunt Agatha told her it was too
hot to go outside without a hat on. Becky
didn't have a hat. Aunt Agatha told her not to
worry, she could wear one of hers. Becky
tried on four hats. The pink one was really
pretty, but it had a big bow in the back that
was too long for Becky. The green hat was
too fancy for Becky. She did not like that hat
at all. The blue hat was nice, but it had an
ugly bird on it. Then, Becky saw a big brown
hat with a yellow ribbon on it. That hat was
made of straw. It was a perfect hat for the
beach. It was too big for Becky's head but
.she didn't care. It was a great hat
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* Question
(dlnids 2)

Car park for airport
workers only

Everyone can park here

Travelers can park here

Only workers in the airport are allowed to

.park here
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* Question
(25 2)

AIRPORT TRAIN DELAYED
Passengers may use train
tickets on bus service

.The train will come earlier than the bus

Passengers can take the bus instead of
the train with the same ticket

The train and the bus will not come
today

* Question
(alnzs 2)

Free bus to city
from airport

You do not have to pay to travel on this
If you are free , you can take this bus

.Go to the airport if you are free

* Question
(dlais 2)

Car park for airport
workers only
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* 7Where was Becky .
(dlnas 1)

at the store .
b. at the beach

c. at school

* ?2Who was Becky visiting .2
(dkas 1)

b. her friends
c. her sister

d. her Aunt Agatha

*?2Why didn't Becky like the blue hat .3

(b 1)

a. it was too fancy

c. it had an ugly bird on it

d. it was old

Why didn't Becky want to wear the pink .4

* ?hat
(ddazi 1)
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*5
(ks 0.5)

because
fo

Although

24

L
(g 0.5)

works
helps

shouts at

25

* g
(ilais 0.5)

Because
S0

After

20

*Q
(ks 0.5)

worked



